Efficiency vs Dxy(PV)

0.

)5 =20-15-10 =5 0 5 10 15 20 25

TP dxy(PV) (cm)

[—— DQM_mKFIt_TTorgmal

—e— DQM_mkFit_TToriginal-106

—— DQM_mKFit_TTNEWHSMS_ALLITERS-106
—— DQM_mkFit_TTNEWHSMS50_ALLITERS-106

[[Efficiend] —— DOM_mkFit TTNEWHSMS100_ALLITERS-106

< 0.5

g
Soa

o

o

efficiency vs dx
o
w

o
© N

0.9

THETH
I o
L

—1—08—06—04 020 02040608 1

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

0.5

PV)

o

efficiency vs dz
o

o
© N 9O w

10
TP dz(PV) (cm)

o

[N

N

TTOT I LTIy

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


